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PHYSICS SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carrles one mark.

(i)

()

(i)

(iv)

(i)

{ix)

(x)

{xi)

{xii)

1 mm per day is equal to:
1

A 11.57ms™ B. 11.57nms™  C. 1.57 pms™' D. 11.57 ums”

The number of forces that can be added by head to tail rule are:

A 3 B. 4 C. 5 D Any number
Moon is nearly 380,000 km, away from the earth. It completes its one revolution around the earth in:
A 27.3 days B. 400 hours C. 300 hours D. 26 days
Hammer raised up and stretched bow both have:

A Kinetic energy B. Potential energy

C. Heat energy D. None of these

According to the Einstein mass energy equation, if mass is one gram then energy is:

A 3x10%J B. 3x10°J C. 9x10"°J D. 9x10"J
Inertia depends upon:

A Force B. Mass C. Net force D. Velocity

The unit of momentum is:

A kg 'ms™ B. kgms™ C. kgms™ D. kgms

The time required to change 22 NS momentum by a force of 44 N is:

A 058 B. 18 C. 28 D. 38

The Sl unit of thermal conductivity constant 'K’ is:

A. kgms k™ B. kem™s*k?  C. kgm*k™* D. kg™ 'm7s k™

A stone is dropped from a top of tower. The stone hit the ground after 5 second, the height of tower is:
A. 100 m B. 125 m C. 150 m D. 175 m

What will be the value of 'a' for solid for which '’ has value of 3x107k™'?

A. -19—>< 107k B. -lgx 10° k™ C. 9x107°%"! D. 1x107k™
3.01x10° has significant digits.
A. 1 B. 3 C 5 D 7
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Time allowed: 2:40 Hours

=
PHYSICS SSC-I

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Note:

Q.3

SECTION — B (Marks 33

Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11x3=233)

(i)

(i)
(iif)
(iv)
(v)

{vi)
{vi1)

(xiv)

(xv)

A cyclist completes half round of a circular track of radius 318m in 1.5 minutes. Find the speed and
velocity.

In which case do you need smaller force and why?

a. Ratling friction b. sliding friction

Why the height of vehicles is kept as low as possible?

On what factors the orbital speed of satellite depends?

When the gun is fired, it recoils. Why?

How the value of ‘g’ varies with altitude?

Derive the relation of kinetic energy.

Why does the atmospheric pressure varies with height?

How much would be the volume of ice formed by freezing one litre of water?
Define internal energy of body. On which factors does it depend?

The temperature of soil increases more than the same mass of water. Why?
Why does sea breeze blow during the day?

Convert of the following:

a 10 km/h into ms”
b. 100 pm  into nm
c. 5lire  into m®

Define the following:
a. Centre of gravity b. Centre of mass C. Couple

Differentiate between mass and weight.

SECTION — C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)
State Archimedes principle. What is up-thrust force? Also derive the relation of up-thrust

force. (1+1+4)
A container has 2.5 litres of water at 20C . How much heat is required to boil the water? {04)

Explain vertical motion of two bodies attached to the ends of string that passes over a

frictionless pulley and also find the acceleration and tension in the string. (2+2+42)
The steering of a car has radius 16 cm. Find the torque produced by the couple of 50 N. {04)
PP
Define momentum. Also prove that F = (1+5)
¢
At what altitude the value of ‘g’ would become one fourth than on the surface of earth? (04)
—— 1881707 ———
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